| MATHEMATICS| WORK SHEET

Chapter- 4

WORK SHEET

1. fn(A-B)=12,n(B—A)=16 and n(A n B) =5, find:
(i) n(A)
(i) n(B)
(iii) n(A U B)
2. Ifn(§) =40,n(A’) =15, n(B) =12 and n((A n B)’) = 32, find :
(i) n(A)
(ii) n(B’)
(iii) n(A n B)
(iv) n(A U B)
(v) n(A—B)
(vi) n(B—A)
3. Ifn(€)=40,n(A)=20,n(B’) =16 and n(A U B) = 32, then find n(B) and n(A n B).

4, Ifn&=20and n(A’) =7, then find n(A).
5. f4={x:xeW,x<10}, A.={x:x>5}and B ={x: 3 <x< 8}, then verify that:
() (AuB)Y=A"NnPB
(i) (AnB)Y=A"UPB’
(i) A—-B=ANPB
(V) B—A=BNnA
6. If &€ ={natural numbers between 10 and 40}
A ={multiples of 5} and
B = {multiples of 6}, then
() findAUBandANB
(ii) verify that
n(AUB)=B(A)+n(B)—n(AnB)
Find the proper subsets of {x : x> —9x — 10 = 0}
Find all the subsets of each of the following sets :
(i)A={5,7}
(i) B={a, b, c}
(iii)C={x:xeEW,x<2}
(iv) {p : p is a letter in the word ‘poor’}
9. Given the universal set={-7,-3,-1,0, 5, 6, 8, 9}, find :
(YA={x:x<2}
(i) B={x:-4<x<6}
10. If T={x: x is a letter in the word ‘TEETH’}, find all its subsets.

11. Given, A = {Triangles}, B = {Isosceles triangles}, C = {Equilateral triangles}. State
whether the following are true or false. Give reasons.
()ACB




12.

13.

14.

15.

(i)BS A

(ij)cc B

(v)BcA

(v)CcA

(viijC€ BCS A

State, whether the following pairs of sets are equivalent or not:
(JA={x:x€Nand 11>2x—-1}andB={y:yEWand3<y<9}
(i) Set of integers and set of natural numbers.

(iii) Set of whole numbers and set of multiples of 3.
(iv)P=1{5,6,7,8}and M ={x:x € Wand x< 4}

Find the cardinal number of the following sets :

(i)A1=1{-2,-1,1, 3,5}
(ii)Ay={x:xE€Nand3<x<7}

(iii) As={p:pEWand2p-3<8}
(iv)Ag={b:b€Zand-7<3b-1<2}

(i)1s {1, 2, 4, 16, 64} = {x: x is a factor of 32} ? Give reason.
(i) Is {x: x is a factor of 27} # {3, 9, 27, 54} ? Give reason.
(iii) Write the set of even factors of 124.

(iv) Write the set of odd factors of 72.

(v) Write the set of prime factors of 3234.

(vi) Is {x: x2 = 7x + 12 = 0} = {3, 4}?

(vii) Is{x : x*=5x—-6=0}={2, 3}

(iYA1={x:2x+3=11}

(i) Az = {x : x> = 4x -5 =0}

(iii)As={x:x€7Z, -3<x<4}

(iv) Az = {x : x is a two digit number and sum of digits of x is 7}
(V) As={x:x=4n,n € Wand n <4}

(Vi) Ae ={x:x=n/n+2; n € Nand n > 5}




